H. Algebra 2. Module 10 Review

Name: Date: Hour: ___
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10-1 lnverses of SEJ e Quadratic and Cubic Functions

For 1-2, graph the function f{x} for the domaln\{x}xft'/ﬂ} Th wrlte and graph its inverse function,
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1. f(x) = 025&03 S 2. f(x) 5x2 +3 7 U
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For 3-4, graph the function fix). Then wrlte and graph itf inverse fungtmgl ft (x)
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For 5-6, use the function d(t) = 4.9¢% which gives the distance, d, in meters, that an object dropped
from a height wilk fall in t seconds.

5. Write its mverse function t{d} for the time, t, in seconds, it takes for an ob;ect to fall a distance of d meters.




10-2 Graphing Square Root Functions ’ <
.. For 1-Z, find the endpoint and twe additional points to graph each function. Identify the domain and

range.

Domain: 7 3 - &

Range:

4. f(x) = —V3x + 2
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For 5-6, use the transformations applied to the graph of the parent functfon f (x) =
function g(x).

\/E to write a

5 Reflected across the y- ax1s vertlca}ly stretched by a factor of 7, and translated down 3 units.

7. Write theffunctlon that matches the graph using the given transformation format.

A) g(x) = ,’% x-h+k L3 L Bg= a\/_— h+k AN S 0
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10-3 Graphing Cube Root Functions

Fer 1-2, tell the transformations that have been applied to the parent graph of f(x) = Vx to produce
the graph of g(x). Then graph each cube root function by finding the point of symmetry and two points

on each side.

1Lglx)=Vx—-3+2 2.g(x)—%'v' -3
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For 3-4, write a function of the form g(x) =a¥x - R + k or g(x) = 3/}1; {(x — h) + k that matches each
graph.
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For 5 6 use the transformatlons applied to the graph of the pareﬁt functlbn f(x) = \/— tc write a
function g{x).

5. Reflected across the y-axis, transiated down 4 units and left 12 units.
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6. Stretched vertically by a factor of 8, reflected across the x-axis, translated 11 units to the right.

4liy = T



